[ Efficien

cy vs vertpos |

0.4

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02
0.0

RARANRARLE RRRLE LERRY RRRRELLLEA B AN LA RARR

o +0QF
5

x 1.1
E+

=

0.9

|4

B

1072

Efficiend

10 10 0?
TP vertr (cr%)

—=— DQMstep3_SoftQCD_CKF
—e— DQMstep3_SoftQCD_default
—+— DQMstep3_SoftQCD_defaultNEWT2

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01
lG—

..................

................

................

Ratio
=

0.9

: .}?ﬁt.if Rt

0.l

[
o

10 20 30
TP vert z (cm)

-20 -10 0

[ Efficien

cy vs.simPVz |

N 0.
>
2.0.09
£
50.08
20.07
3
20.06,
[}
(&}
£0.05
()
0.04
0.03
0.02

0.0

10
1.05

Ratio

1

0.95F-

0.9,

=20

10 1520
Sim. PV z (cm)

~157-10



	Contents
	Page 1


